## Award Worksheet

Purchasing Entity:Shelby County SchoolsBid ID:2727Description:Bid for Central Nutrition CenterCategory:Various Refrigeration Equipment - Req. 72Effective Start Date:

Awarded: Bids Due By: Bids Sealed Until:

08/08/2019 11:00 AM 08/08/2019 11:00 AM

Vendor Summary Information							
Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary				
Chef's Deal Restaurant Equipment	•	15 days after delivery	156,732.3100				
Douglas Equipment	Quote Pricing includes delivery and set in place with shelves and slides installed.	Net 30	91,556.8500				
federal equipment dealers, inc.	delivered and installed	net after delivery and installation	44,913.0000				
HOTEL AND RESTAURANT SUPPLY			62,472.0000				

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award		
No lotted items found fo 1	or the selected criteria. Item #: 3317 Three-Section Refrigerators. Manufacturer & Part Number:	1 - Count Magali - c-3r-HC	federal equipment dealers, inc.	2,471.0000	5	12,355.00					
	Quoted as Spec'd: Yes		Product Number: SCS2727A								
	Item Notes: For delivery details, please contact Jim Cruthirds at (901) 626-1546 or at (901) 416-5560.										
	Response Item Payment Terms: net delivered										
	Response Item Notes: delivered	and installed									
	Item #: 3317 Three-Section Refrigerators. Manufacturer & Part Number:	1 - Count Traulsen, Master-bilt	HOTEL AND RESTAURANT SUPPLY	4,268.0000	5	21,340.00					
	Quoted as Spec'd: Yes	Tradisci, Waster bit	Product Number: As Per Spec								
	Item #: 3317 Three-Section Refrigerators. <b>Manufacturer &amp; Part Number:</b>	1 - Count Master Bilt - MBR72-S	Douglas Equipment	5,492.6100	5	27,463.05					
	Quoted as Spec'd: Yes		Product Number: MBR72-S								
	Response Item Payment Terms	: Net 30									
	Item #: 3317 Three-Section Refrigerators. <b>Manufacturer &amp; Part Number:</b>	1 - Count Victory Refrigeration	Chef's Deal Restaurant Equipment	10,457.0700	5	52,285.35					
	Quoted as Spec'd: Yes		Product Number: RSA-3D-S1								
2	Two-Section Refrigerators.	1 - Count	federal equipment dealers, inc.	2,015.0000	2	4,030.00					
	Manufacturer & Part Number:	Magali - C-2R-HC	<b>B</b>								
	Quoted as Spec'd: Yes	plaase contact lim Cruthin	Product Number: SCS2727 ds at (901) 626-1546 or at (901) 4	116 5560							
	Response Item Payment Terms		as at (901) 020-1340 01 at (901) 4	10-3300.							
	Response Item Notes: delivered										
	Two-Section Refrigerators.	1 - Count	HOTEL AND RESTAURANT SUPPLY	2,882.0000	2	5,764.00					

Line Lot Number Code	Item Description Manufacturer & Part Number:	Purchase Unit Traulsen, Master-bilt	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Quoted as Spec'd: Yes		Product Number: As Per Spec						
	Two-Section Refrigerators. Manufacturer & Part Number:	1 - Count Continental Refrigerat	Douglas Equipment ion - 2RN	4,068.0200	2	8,136.04			
	Quoted as Spec'd: Yes		Product Number: 2RN						
	Response Item Payment Terms	: Net 30							
	Two-Section Refrigerators.	1 - Count	Chef's Deal Restaurant Equipment	7,602.0300	2	15,204.06			
	Manufacturer & Part Number:	Victory Refrigeration							
	Quoted as Spec'd: Yes		Product Number: RSA-2D-S1						
3	Pass-Through Refrigerators. Manufacturer & Part Number:	1 - Count Traulsen, Master-bilt	HOTEL AND RESTAURANT SUPPLY	3,582.0000	2	7,164.00			
	Quoted as Spec'd: Yes		Product Number: As Per Spec						
		please contact lim Cruthire	Is at (901) 626-1546 or at (901) 4	16-5560					
				10 0000.					
	Pass-Through Refrigerators. Manufacturer & Part Number:	1 - Count master bilt - mpr242ss	federal equipment dealers, inc. s/OX	3,918.0000	2	7,836.00			
	Quoted as Spec'd: Yes		Product Number: SCS2727C						
	Response Item Payment Terms	: net deliverd							
	Response Item Notes: delivered	and installed							
	Pass-Through	1 - Count	Douglas Equipment	5,850.9100	2	11,701.82			
	Refrigerators. Manufacturer & Part Number:	Continental Refrigerat	ion - 1RNSAPTHD						
	Quoted as Spec'd: Yes	-	Product Number: 1RNSAPTHD	)					
	Pass-Through	1 - Count	Chef's Deal Restaurant	8,210.4900	2	16,420.98			
	Refrigerators. Manufacturer & Part Number:	Victory Refrigeration	Equipment						
	Quoted as Spec'd: Yes		Product Number: RS-1D-S1-P1	T					

Line Lot Number Code	Item Description Item #: 3337 Three-Section Refrigerators. Manufacturer & Part Number: Quoted as Spec'd: Yes	Purchase Unit 1 - Count Magali - C-3F	Vendor federal equipment dealers, inc. Product Number: SCS2727D	Bid Price 3,234.0000	Response Quantity 5	<b>Total Price</b> 16,170.00	Pending Award Quantity	Pending Award Total	Pending Award	
	Item Notes: For delivery details, please contact Jim Cruthirds at (901) 626-1546 or at (901) 416-5560.									
	Response Item Payment Terms: net delivered Response Item Notes: delivered and installed									
	Item #: 3337 Three-Section Refrigerators. Manufacturer & Part Number:	1 - Count Traulsen, Master-bilt	HOTEL AND RESTAURANT SUPPLY	3,662.0000	5	18,310.00				
	Quoted as Spec'd: Yes		Product Number: As Per Spec							
	Item #: 3337 Three-Section Refrigerators. Manufacturer & Part Number:	1 - Count Continental Refrigerat	Douglas Equipment	6,801.2400	5	34,006.20				
	Quoted as Spec'd: Yes		Product Number: 3F							
	Response Item Payment Terms	: Net 30								
	Item #: 3337 Three-Section Refrigerators. Manufacturer & Part Number:	1 - Count Victory Refrigeration	Chef's Deal Restaurant Equipment	11,232.5800	5	56,162.90				
	Quoted as Spec'd: Yes		Product Number: FSA-3D-S1							
5	Item #: 3335 Two-Section Freezers. Manufacturer & Part Number:	1 - Count magali - C-2F-HC	federal equipment dealers, inc.	2,261.0000	2	4,522.00				
	Quoted as Spec'd: Yes		Product Number: SCS2727F							
	Item Notes: For delivery details, please contact Jim Cruthirds at (901) 626-1546 or at (901) 416-5560.									
	Response Item Payment Terms: net delivered									
	Response Item Notes: delivered	and installed								
	Item #: 3335 Two-Section Freezers. Manufacturer & Part Number:	1 - Count Traulsen, Master-bilt	HOTEL AND RESTAURANT SUPPLY	4,947.0000	2	9,894.00				

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Quoted as Spec'd: Yes		Product Number: As Per Spec						
		Item #: 3335 Two-Section Freezers.	1 - Count	Douglas Equipment	5,124.8700	2	10,249.74			
		Manufacturer & Part Number:	Continental Refrigerat	tion - 2F						
		Quoted as Spec'd: Yes		Product Number: 2F						
		Response Item Payment Terms	: Net 30							
		Item #: 3335 Two-Section Freezers. Manufacturer & Part Number:	1 - Count Victory Refrigeration	Chef's Deal Restaurant Equipment	8,329.5100	2	16,659.02			
		Quoted as Spec'd: Yes		Product Number: FSA-2D-S1						